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Directions (1-5): fRafefad el T TTed UG 1 Hiforg

Q1.0, 4, 19, 48, 100, 180, 294
(a) 19

(b) 100

(c) 294

(d) 48

(e) 180
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Q2.1, 2, 7, 34, 202, 1420
(a)7

(b) 34

(c) 202

(d) 2

(e)1
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Q3. 823, 724, 647, 592, 559, 549
(a) 549

(b) 647

(c) 559

(d) 592

(e) 724
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Q4.1, 4, 11, 34, 102, 304, 911
(a) 11

(b) 911

(c) 102

(d) 34

(e) 304
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Q5.5 8, 20, 42, 124, 246, 736
(a) 20

(b) 124

(c)8

(d) 42

(e) 736
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D1rect10ns (6-10): ﬁa%@au@aﬁmmqﬁﬁamaﬁmaﬁvﬁﬁqwmh%
wqhawmamﬁw%ﬁamqﬁemﬁaml

Total cost estimate Rs. 2,40,000

Grills &
Windows
10%

Curtains &
Cushions
10%

Q6. ¥IAH B} ufhar F IR, TRAR &1 9Rad § fafay =04 20,400 FUA g1 URER gRT
e Tar arafa® fafay =, g srgaT g arTa &1 faq ufa=ma 82

() 9.5 %

(b) 9 %

(c) 8.5 %

(d) 10.5 %

(e) 6.5 %
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Q7. BHIR @1 SFHTT AN W 12% B Fe U H3A 3R g1 & T 20,400
I & IRafde ey =g & Sramar, uRaR &t SgHAG arTg W8l 31 3 W &
IR R uRaR &1 $a arafas o4 3. ¥) fean g2

(a) 2,37,456

(b) 2,31,852

(c) 2,39,000

(d) 2,33,000

(e) 3,22,500
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Q8. SAdf¥e Tgoirae 3R dI¥JPIY Yeb (Interior Decoration and Architect Fees) UX
TRaR gRT /gt AR & faen siar (Fud #) 87

(a) 20,000

(b) 19,000

(c) 14,400

(d) 18,000

(e) 19,200
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Q9. PR} 3R Wi wR firameds uftar gRT srgaTf=a arma (Fud #) feat 82
(a) 73,000

(b) 69,600

(c) 72,000

(d) 69,000

(e) 71,000
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Q10. TRAR ®I B-iR TR Fe U Bl 8 3R 98 WHaR WR I arTd o 120 $H
YITATH HRdl 8 | AR UR T o1 15 ARy (%'uﬁﬁ) forait 87

(a) 26,400

(b) 29,052

(c) 27,052

(d) 27,456

(e) 25,652
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Directi%ons (11-15): R &} 715 AIfIPBT 2011-2016 TF HU A B 3, =Y 3R aH Ufa=E
aidt 21

S oag A%
2011 | 103.824 | — 12%
2012 | — 83.8 25%

2013 | 95.76 84 —

2014 1 113.28 | — 20%

2015 | 1331 110 —

2016 | 121.6 — —

e (i) 3 3R o fiferas vl # § @ik
(ii) o 9 &t g § o 2016 A o wfa=rd & gie ufo=rd 33 4% B

Q11. ¥ 2016 W HU HT oqY FId P
(a) 94 fferaa

(b) 95 farfer=

(c) 99 fafera=

(d) 81 farfera=

(e) 78 faferaa
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Q12. 7 2014 # =@, o 2011 ¥ g Bt ga1 # e wlerwra 3iferes a1 v 4 82 (2 TXwwE d

(a) 1.22% 3ifeh

(b) 1.69% ®H

(c) 1.83% 3ifip

(d) 1.45% H

(e) 58 I P Tl
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Q13. a9 2012 ¥ 2016 TP HUT BT 3 d Y fha-T 8?2
(a) 93.44 fafera
(b) 92.88 Toifera=
(c) 93.98 fhferaH
(d) 94.88 faferaa



(e) 82.88 fafera
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Q14. T 2014 F 3 IF T Y MR T MM DI B 96 2014 TF B BT AT TY
gfsra 91 Siforg|
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Q15. afe fued ad Ft germm A adf 2011 ¥ =g & 20% Ft g3 g8 o, o fuoa af & @y ufamm,
2011 1 AT H ATH Uia=Id | 25% $H 4T df 2010 H 31T 1d BIQ|

(a) 83.202 fhferaa

(b) 85.6211 fhfera

(c) 81.243 farfer

(d) 84.2025 fafea

(e) T7H § IS &I
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Solutions

S1. Ans.(a)
1*—12=0
23 -2 =1
3*-3"=18
4% _ 4% =48
5% — 52 =100

Sol And so on..

Ol.

S2. Ans.(c)
Seriesis
1®%x3—-1=2
2x4-1=7

7x5—1=34

Sol. 34 xe—1=203



S3. Ans.(a)

Series is

823 -99=724
724 - 77 =647
647 - 55=592
592 -33 =559
Sol. 559 -11 =548

S4. Ans.(c)
1xX3+1=4

4x3—-1=11
11X3+1=34

Sol. 34x3-1=101..

S5. Ans.(a)

Seriesis =2-2, x3-2, x2-2, =3-2...
Sol.

S6. Ans.(c)
20400

Required percentage = x100=8.5%

Sol. 240000

S7. Ans. (a)

Sol.

Estimated miscellaneous cost = 8% of 240000 = Rs 19200

Total expenditure of family = 240000 - 19200 + 20400 - 12% of 13% of 240000 = Rs
2,37,456

S8. Ans. (e)
Sol.
Required difference = (19-11) % of 240000 = Rs 19200

S9. Ans.(b)
Sol.
Requires cost = (15+14) % of 240000 = Rs 69600

S10. Ans.(d)
Sol.
Amount spent on furniture = (100-12) % of 13% of 240000 = Rs 27456

S11. Ans.(b)



23.1x100

Profitin 2015 = =21%
_ 21x400 _
In 2016, P9 = avio0 28%
Sol So, expenditure = 121.8¥100 — 95 million
ol.
S12. Ans.(c)
Expenditure in 2014 = w = 94.4 million
Expenditure in 2011 = w = 92.7 million
Required answer = % * 100 = 1.83% more
Sol. '
S13. Ans.(a)
Required average
B83.8+84+94.4+110+95
= S = 03.44 million
Sol.
S14. Ans.(e)
Sol.

Total income

=103.824 + 95.76 + 113.28 + 83.8 x % = 417.614 million

Total expenditure
=902.7+83.8484+94.4= 354.9 million

_ 417.614-354.90 _
Profit 95 = EETTrTe— ® 100 = 17.67%

$15. Ans.(d)

Expenditure in 2011 = 92.7 million

So, Expenditure in 2010 = w = 77.25 million

12x75
100

Profit 94 in 2010 = =004

Income = TRE8X108 84.2025 million

Sol 100



